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PINAL EXAMINATION OF PHARMACOLOGY

PART I CHOICE QUESTION (70)
TYPE A
1+« After repeated administration of phenob-

drbital sodium,the patients c lain the

drug is useless ,this phenomenon is called
tolerance of drug which is caused by
A.inhibition of receptors

B.inhibition of microsomal enzyme system.
Cestimulation of excretion

D.increase the binding of plsma protein

- E.lowing of bioavallability.

2. One drug is eliminated with the Fist-order

kinatica,tx=3 h.If measured the drug/s
nd

~concention of plasma is 75 ug/ml at 8:00

1”An.hnw much is the drug concentration at

8:00 Pm.
A.75 ug/ml.  B.37.5 uga . oy
C.12.5 ug/ml. D.4.68 ug/ml.

E.2.37 ug/ml.
The maximam effect (Emax) that a drug can
hﬁ ﬁ#hiavad by-2 is a measurement of
A.potency

B.the quantal response.

C.,efficacy.

D.antagonist magnitude.

B.the theraputiic index(TI),

4, ONe drug isFliminatad with zero-order kine-
tics, what is the equation of describing the
relationship between t% and k

A.t4=0.693/k. B.th=2Ce/k
C.t4=0.5C, /% Dyk=Bv56-/
D.k=0.693/t% E, K=0.693 tz

5. All of the following statement shout efficacy

A

B

C

D
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potency are true EXCEPT

«the ED50 is a measurement of a drug’'s

efficacy.

.efficacy is usually a more important cli-
nical consideration than potency.

.efficacy is indicated by the height of

the »og dose-respose curve,

.drug that produce a similar pharmaculagic+]

effect can have very different levels of

gfficacy.

L.on a log dose-response curve,two drugs with

the same action but with different potencies

will usually have parallel curve.

6., One weak :cidic drug with PKa=54,if the sto-

and

a
mach juice pH=1.4,blood plsma PH=T7.4,when
tnqhistrihutinn reach to eqilibrium,what is
the drug concentration proportion lL:tween

blood plasma and stomach juice

A.5HO, B.100
C.1000, D. 10000,
E.Cals

Wwhich of the following statement concerning
drug action 18 true
A.gamma globubin can bind to a drug and
serve a*l drug receptor.
B.drus can’t act unless it is first bound
to a receptor.
C.drug can’t act unless it is first rele-
ased from a receptor.
D.a drug can act as an antagonist it has
efficacy with receptor but no intrinsic

activity

E,drug receptors play a role in the bloav-
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